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CocTaBHTh HPOIpanmMy, BBI"IHC/ISHOIYHO CIACHYHOUIHC BCIIH' ITHHBI

1) s=gt? & in E ; 6) E,=mgh

2 v=42gh R+r’ 7 v= fi

3) p=nkl, 5) E,F%; m
8) E=mc’;

Kon nporpammer:

program zl;
var
g.t,s:real;
Procedure Res;
begin
s:=g*sqr(t);
end;
begin
g:=9.81;
Write('Beenure t: ');
Readln(t);
Res;
Writeln('s =",s);

end.

Pesynprar:

program z1;
wvar
g,t,s:real;
Procednure Ees:
begin
s:=g*sqr(t);
end;
begin
g:=9.81;
Write ('"BeemguMTe T: "):
Readln(t);
Res;
Writeln('s = ',s3):
end.

<

OkHo BeIBOA3

BeemguTe t: 5
5 = 245.2%
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Kon mporpammer:

program z2;
var
h:integer;
g,vireal;
Procedure Res;
begin
vi=sqrt(2*g*h);
end;
begin
2:=9.81;
Write('Benurte h: ');
ReadIn(h);
Res;
Writeln('v = ",v:2:2);

end.

Pesyubrar:

program z2;
var
h:integer;
g,vireal;
Procedure Ees;
begin
vi=sgrt(2*g*h):
end;
begin
g:=95.81;
Write('BeemuTe h: '):
Readln(h);
Res:;
Writeln('v = ",v:i2:2);
end.
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BeemuTe h: &
v = 10.85

Pucynok 2 — ITpumep 2



Koz nporpaMmst:

program z3;
var
p,n,k, T:integer;
Procedure Res;
begin
p:=n*k*T;
end;
begin
Write('Beaute n: '),
Readln(n);
Write('Beenure k: ');
Readln(k);
Write('Beenure T: ');
ReadIn(T);
Res;
Writeln('p =",p);

end.

Pesyibrar:

program z3;
war
p,n,k,T:integer;
Procedure ERes;
begin
pi=n*k*T;
end;
begin
Write ('BeemMTe n: ")
Readln (n);
Write ('Beemure k: '"):
Readln (k) ;
Write('Beemure T: °
Readln (T);
Res;
Writeln('p = ',p):
end.
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OkHo BbiBOA3

Beemmure n: 5
Beemmre k: 7
Beemure T: 1
P = 35
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Kox nporpamMmsr:

program z4;
var
E,R, rad:integer;
l:real;
Procedure Res;
begin
1:=E/(R + rad);
end;
begin
Write('Bsenure E: ');
ReadIn(E);
Write('Beenute R: ');
ReadIn(R);
Write('Beenure r: '),
Readln(rad);
Res;
Writeln('l =',1:2:2);

end.

Pesymbrar:

program z4;
var
E,R,rad:integer;
l:real;
Procedure Res;
begin
1:=E/(R + rad):
end;
begin
Write('Beemare E: ')
Readln(E);
Write ('BeemuTe R: ')
Readln(R):
Write('BeemuTe r: '):
Readln(rad):
Res;
Writeln('l = ',1:2:2);
end.
<

OxkHo seiE0AR

Beemure E: 32
BeemuTe R: 22
Beemure r: 11
1 = 0.97
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Kon nporpammer:

program z5;

var
m,v:integer;
E:real;

Procedure Res;

begin
E:=m*sqr(v)/2;

end;

begin
Write('Beenure m: ');
Readln(m);
Write('Beemure v: ');
ReadIn(v);
Res;
Writeln('E(x) = ',E:2:2);

end.

Pesynprar:

program zS;
war
m,v:integer;
E:real;
Procednre Res;
begin
E:=m*sqgr (v)/2;
end;
begin
Write('Beemure m: ") ;
Beadln (m) ;
Write('BeeouTs v: '):
Readln (v) ;
Bes;
Writeln('E(x) = ',E:2:2);
end.
<

OkHO BEIBOAE

BeemaTe m: &
BeemaTe v: 2
E({k) = 12.00
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Kon nporpammer:

program z6;

var
m,h:integer;
E,g:real;

Procedure Res;

begin
E:=m*g*h;

end;

begin
g:=9.81;
Write('Beenute m: ');
Readln(m);
Write('Beenute h: ');
ReadIn(h);
Res;
Writeln("E(n) = ',E:2:2);

end.

Pesynprar:

program z&;
war
m, h:integer;

E,g:real;
Procedure Res;
begin
E:=m*g*h;
end;
begin
g:=9.81;
Write('BeemuTe m: '):
Readln (m) ;
Write('BeemuTe h: '):
Readln(h) ;
Res;
Writeln('E(n) = ",E:2:2);
end.

<

OkHo BbIBOAE

EEegMTe m:
EeemuTe h:
E(n) = 156.
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Koz nporpaMmst:

program z7;
var
k,T,m:integer;
v:real;
Procedure Res;
begin
v:=sqrt(k*T/m);
end;
begin
Write('Beenure m: ');
Readln(m);
Write('Beeaure k: ');
Readln(k);
Write('Beenute T: ');
ReadIn(T);
Res;
Writeln('v =",v:2:2);

end.
Pesynbrar:
program z7;
va;,T,rr:int,egeI;
vireal;

Procedure Res;

begin
vi=sqrt (K*T/m) :

end;

begin
Write ('BeemmTe m: ');
Readln(m);
Write('Beemnre k: "):
Readln (k) ;|
Write('Beemmre T: ');
Readln(T):
Res;
Writeln('v = ',v:i2:2);

end.

<

OkHo BbIBOAA

Beemure m: 3%
Beemmre k: 2
Beemmre T: 5
v = 0.34
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Koz nporpaMmst:

program z8;

var
E,c,m:integer;

Procedure Res;

begin
E:=m*sqr(c);

end;

begin
Write('BBeaute m: ');
Readln(m);
Write('Beenure c: ');
Readln(c);
Res;
Writeln('E =",E);

end.

Pesynbrar:

program z3;

war
E,c,m:integer;

Frocedure ERes;

begin
E:=m*=qgr (c):
end;
begin
Write ("BeeguTe m: ")
Readln (m) ;
Write ('BeeguTe c: ')
Eeadln(c):
Res:;
Writeln('E = ',E):
end.

<

DJkHo BeIBDgE

BeemaTe m: 66
Beemure c: 32
E = 67584
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